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Losung Al
fix) =x3+x73

Leve/ 2 Fortgeschr/tten - Blatt 3

fi'(x) =3x% —3x7*

1
00 =x* + x4+

’ 3 3
f2 (x)=3x2+5\/§—x—4

fz(x) = (2x — 4)?

f5'(x) = 24x% — 96x + 96 = 24(x% — 4x + 4)

fao) = x*(1 =)

fi/(x) = 3x% — %xz -Vx =x%(3-3,5Vx)

fo(x) = g(x4 _4x2 4 5)

f'(x) = §(4x3 —8x) = 2m(x3 — 2x)

x—8x2

fe(x) = fe'(x) = %— 2x
fr(x) = x —éx +2x £ (6) = 2% — 2x% + 2
Lésung A2

a) f()=3x*+- — f'(x)—éx—i — f”(x)—6+ 2= ) = ——

2
18

b) f(x)—?V_—— — f'(x) = 3J_ 5 — ') =-—= 3J— x3 f"'()‘nsz— pors
c) f(x)—(x+2)2+(x—4)2 — f’(x)—4x—4 — f”(x)—4—> f"(x)=0

d) f(x)—4x4+2x — f'(x)=x" 4+2 — f”(x)——ix T — f”’(x)——lx_%

Losung A3
i) =Ex-2)x-DE+Dx+2)=x*—-4)(x?—-1)=x*—-5x2+4
fi'(x) = 4x3 — 10x

fo(x) =x2(1—2x)(4 —x) =x2(4 —9x + 2x?) = 2x* —9x3 + 4
fo2'(x) = 8x3 — 27x?

) =(Wa-1)"(Wa+1) =(x-1)? =x2—2x +1
f3'(x) =2x -2

fi(x) =2 —x%)3=6—12x% + 6x* — x°
fi'(x) = —6x5 + 24x3 — 24x = —6x(x* — 3x2 + 3)

fs(x) = Vx - (1—x)2—\/_ 2x VX +x% - x
fs(x)———?n/_+ Zx\x

=(14+1). 2 _ 3y =34y y243 11, =3243_42
fe(x)—(x+x2) B+x x)—x+x x +x2+1 x=—+-—-x +1
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f7(x) = x_%~(2 +§_xi2) = 2x_§+x_5—x_%
f7'(x) = —x_% — %x_g + %x—3
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